[image: Image result for Gateways school]
Marking Scheme

Transformation of Shapes
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Q4.
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Q6.
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Q7.
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Q8.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Q14.
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Q16.
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Q18.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
[image: ]
 




Q19.

[image: ]


Q20.

[image: ]


		Produced by Mr Adegboro
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Question Working Answer | Mark Notes
Number
@ Rotation| 3 | B1 Accept
‘rotate’, | These
‘rotated’ | marks are
etc independe
90° BT Ao nt but
clockwise accept | award no
quarter | marksif
turn the
clockwis | answer is
e, -90° |nota
or270° | single
©,0) BT Alo transform
accept | ation
origin, 0
16) [ vertices (4,4), (4,2), (5,2) | Rcorrect| Z | BZ Condone omission of
label
B1 for 2 correct
vertices
Total 5 marks
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Working Answer Mark Nates
Translation 4 right 2 B2 Bl for translation
and 6 up BI for 4 right and 6 up or

(2
s

Total 2 marks





image7.jpeg
Question | Working Answer Mark Notes
(@ | Enlargement scale factor | 3 | B3 B for enlargement, enlarge etc
Sjcentie(4.3) Bl for 3,13, three, >
Bifor (4, 3) Condone omission
of brackets but do not accept
&
5
These marks are independent
but award no marks if the
answer is not a single
transformation
® | Rcomect [verticesat (5, | 1| BI Condone omission of label
8) (5, 14) and (2, 8)]
(© | Enlargement scale factor | 2 | B2 BI for enlargement, enlarge tc

% centre (8,2)

1

and%, L 0333...)

3

Blfor (8, 2) Condone omission
of brackets but do not accept
A ]

2

)
These marks are independent
but award no marks if the

answer is not a single
transformation

Total 6 marks
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Working Answer Mark Notes
@ Enlargement Bl  For Enlargement
Scale factor 2 Bl For (Scale factor =) 2
Centre (1,0) Bl For (Centre) (1.0)
NB if more than one
transformation mentioned then
3 10 marks
C) Correct triangle at
(10,-2). (7.-2). (7.-1) Bl  Correct triangle in correct place
1
© MI  Triangle congruent fo D and
with correct orientation
Correct triangle at AL
(1.0)2.002.3) ScBI for triangle with vertices
2 at (4.2). (5.2) and (4, -1)

Total 6 marks
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Question | Working Answer Mark Notes
(a) Reflection B1 for reflection, reflect,
(in the line) x =2 reflected
2 Blforx=2
NB: If more than one
transformation then no
marks can be awarded
®) Vertices at (1, 1) B2 Shape in correct position
4.-1)
(4.-3)| 2 |Ifnot B2 then B1 for correct
(3.-3) orientation of R but wrong
position or 3 out of 4 vertices
correct
© Vertices at (3, 2) B2
(3.4)(4.4)(4.3)
2

I not B2 then B1 for shape of
correct size and orientation
OR

a correct enlargement scale

. 1
factor —= . centre (1. 3)

Total 6 marks
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Question [ Working Answer | Mark Notes
@ Reflection BT Accept, for example,
(inline) x=—2 reflect, reflected
2 |B1
Multiple transformations
score BUBO
® Shape i correct B2

position

Vertices at (1,—1) (7, -1)
(7.4) (4,4) (4. -2) (1.
Condone omission of inner

square and/or no shading and/or

Iabel C
Ifnot B2 then B1 for

correct orientation but wrong
‘position or rotation 90°
anticlockwise about (0.0)

Total 4 marks
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Question Answer Mark Notes
@) Enlargement B1
(Scale factor) 2 B1
(Centre) (0,4) 3 |81
NB. Award no marks for more than
one transformation (i.e. if NOT a
single transformation)
®) Shape in correct B2  vertices at(2, 0) (6, 0) (10, -
position 4) (10, - 8)
2

B1  forany 2 vertices correct

or correct orientation but
wrong position

or rotating shape P correctly
- vertices at

7,0), (9, 0) (11,-2), (11,
_4)

Total 5 marks
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Question | Working | Answer | Mark | Notes
@ Rotation | 3 | B1
‘These marks are independent
50 B1  Also accept quarter turn or | but award no marks if the
-270° (B0 for 90° clockwise) | answer is not a single
transformation
©0 B Also accept origin, O
® Recorect| 1 | B1
© Rotation | 2 | B1 Accept quarter tum or 270
90 instead of 90
Asfor (a)
(E3)] 1 fefromther Rifitisa

translation of the correct R

Total 6 marks
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Q ‘Working Answer | Mark Notes
@ Translation 2 BI for translation
5 to the right B for 5 to the right and 4 down
a0d 4 down s
o (%)
‘These marks are independent but award no marks if
the answer is not a single transformation
O] R corect 2

(-2.-1).(0.-1).(0.-2).

C1.-2),

Condone omission of label

B for 90° anticlockwise rofation about (1.0) or
for

Correct orientation but incorrect position.

Total 4 marks
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Ques | Working Answer Mark Notes
a Vertices at 2 B2 Ifnot B2 then BI for correct size
(BSNTSNTINGET) shape in wrong position but
correct orientation o 3 correct
coordinates, or for enlargement
SF3 centre (1.1)
b Enlargement SF 03, T Bl Single transformations only
centre (1.1)
Total 3 marks
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‘Working Answer Mark Notes
@ Vertices at B2 | Ifnot B2 then award
(5.3)(5.9)
(3.9(3.5 BI for shape of
(1.5)(-1.3) correct size and
2 orientation in
incorrect position or
4 out of 6 vertices
correct
®) Vertices at B2 | ot B2 then award
7.-1)(7.-3)
BI for comrect
orientation but
incorrect position or
)

B for rotation
90°clockwise about

.3

Total 4 marks
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‘Working

Answer

Mark

Notes

@

Q comect

B3
Bottom LH comer goes to (4, -2)

Ifnot B3 then B2 for comrect size T shape
in wrong position but with
correct orientation.

Ifnot B2 then B1 for T
shape with 2 or more sides of comrect
length

and comrect orientation

®)

R comect

B2
Bottom LH comer goes to (~11,3)

Ifnot B2 then B1 for rotation of = 90°
(wrong position)

Total 5 marks
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Question Answer | Mark Notes
@ 2 | MIFor clearly identifying the
finex=1or
For a teflection in any
vertical fine
‘triangle drawn Al SCBI for a comrect
(-3.0) reflectioniny =
(-1.-3)
3-2)
® |5 (3.0.(3.2.-L3) 3 | M1 FfrS
rotation of 180° Al towtion1s0’ oe or
with centre (1. Enlargement sf
0
A L0

SCB2 for a fully correct
description of their
transformation if § is in the
incorrect position

Note: Award M1A1AL1 for
2 correct description even if
S not drawn

Award no Answer marks if
more than one
transformation is given

Tot

‘marks
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Question [Working[ Answer Mark [Notes
Number

@ Teflectionin [me x BIBI ‘mustbe a single

=1 z transformation oe forx =1
(rotation (9 B1B1 mustbe a single
{anticlockvise} wransformation.
oe) about (1, 1)
® Tagat@.-1)G,| 2 [B2 Bl for comect onientation of lag or

“D6.-1)G.—

)
oriangle at (5

“D6.-DEG.~

riangle
butin wrong position

2)

Total 4 marks.
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|Question|

‘Working

Answer

Marks

Comments

@

V= drawn

(22)2.5)(4.5)(4.3)

S

Al

or a congruent shape with
the correct orientation in
the 1* quadrant or a
correct reflection in

y=x

®)

Rotation about (0. —1)
90° clockwise

Bl

Bl

Rotation
(centre) (0. -1)

90° clockwise or ~90° or
270° anti-clockwise or
+270°

NB. If more than one
transformation given
then no marks should be
awarded

Total § marks
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Question Answer | Mark Notes
Number
@) Rotation B1
90° or B1  accept
quarter | 3 | 90° or - 270°
turn B1
anticlock
wiise Award BO (no
(0,0) or marks) if the
Oor response
origin not a SINGLE
transformatio
n
®) Shapemn | 2 |82  BIfor
correct translation 6
position units left or 2

units up

Total 5 marks
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| Question Working Answer Notes
@ |2 ©-D.Q0), Trangle in B Accept without label
@-n correet position
® Enlargement BI
(Scale factor) 3 BI
(Centre) (-3,2) Bl Award no marks for multiple transformations.

condone missing brackets around (~3,2)
Do not accept vector notation for ( — 3.2)

Total 4 marks
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‘Working

Answer

Mark

Notes.

Reflectionin
=1

Bl
Bl

For reflection

Fory=1

Award no marks if not a.
single transformation.

Parallelogram with vertices (3

3). (6. 6) and.
©.-6)

B2

“Award B1 for any
translation of the correct
parallelogram.

Parallelogram with vertices (3. 1)

PSNEE)

B2

“Award B1 for a correct
rotation through +90° about
any centre.

Total 6 marks
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Working

Answer

Notes.

rotation

90° clockwise or - 90°
{centre} (0,0) or O or onigin

BL

Bl accept 270° or 270° anticlockwise.
Bl Award no marks if muitiple transformations
condone lack of brackets around 0.0

Total 3 marks
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Question Number Answer | Mark Notes
Transiation] 2 |B1  Also accept | These marks are
translated, | independent but
translate etc | award no marks if
a1 Also accept | the answer is not

2o the left | a single
and1up | transformation

Total 2 marks





